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Blok 5 – les 7 
 
1. Weet je nog? 
      
  7 x 6 = 42    45 – 42 = 3 
 
45 : 6 = 7, rest 3 
 

+ - x :      

 

25 : 8 = ….. rest …..    17 : 5 = ….. rest ….. 

30 : 9 = ….. rest …..    20 : 6 = ….. rest ….. 

15 : 7 = ….. rest …..    26 : 3 = ….. rest ….. 

21 : 4 = ….. rest …..    11 : 2 = ….. rest ….. 
 
 
 
2. Hoeveel stoelen in de rij? 
Er zijn 35 stoelen. 
aantal 
rijen 10 9 8 7 6 5 4 

stoelen 
per rij 3 ….. ….. ….. ….. ….. ….. 

stoelen 
over 5 ….. ….. ….. ….. ….. ….. 
  

35:10 
30:10=3 
5 over 

 
35:9 

27:9=3 
5 over 

 
35:8 

32:8=4 
3 over 

…..:…..=….. …..:…..=….. …..:…..=….. …..:…..=….. 

 
 
 
6. Vul de tabel in 
 

 100 10 1 

438 4 3 8 

695 ….. ….. ….. 

209 ….. ….. ….. 

180 ….. ….. ….. 
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Blok 5 – les 7 vervolg 
 
8. Reken uit 
 
+ - x :      

 

x 3 6 9   x 10 9 5 6 

3 ….. ….. …..   7 ….. ….. ….. ….. 

6 ….. ….. …..   6 ….. ….. ….. ….. 

9 ….. ….. …..   8 ….. ….. ….. ….. 

      9 ….. ….. ….. ….. 
 
 
 
9. Reken uit 
 

+ - x :      

 

80 + 70 = …..     70 + 70 = …..  

60 + 50 = …..     30 + 90 = …..  

90 + 40 = …..     80 + 90 = …..  
 

+ - x :      

 

130 - 80 = …..     170 - 80 = ….. 

140 - 70 = …..     150 - 60 = ….. 

160 - 90 = …..     120 - 50 = ….. 
 


